Augmented Matrices March 14, 2016




Augmented Matrices March 14, 2016




Augmented Matrices

March 14, 2016

Solve.

—

.

o) I

—

7x—23=-7l God #
,,?)(fSS"H O
2 -2 -7 K- -3K,7h4 571 worK fomwarfl
2 & /9
O\l;) —2(9;—”?& 2R +Rs R,
2 % 14 @

1 -2a¢ -

3
o (o 40

| -2 -l

5 - R,
K-by=-uz  A-3EDN3
3 Sy X’IO‘]-:'“B
3 \ﬂ- )(_—‘ﬁ




Augmented Matrices March 14, 2016




Augmented Matrices March 14, 2016

More Tips  Wint AuemENTED MaTRICE S

Ix -2 +4:“8r [EcAL Kow OpEEATION'S
21,7" = ;%Z’Lg ) Mulv‘f(Iy/D)Vlde a rou/./y
=X -37_ }2-97 & Number
\L ;2) Add or Subdact Fup nuws
Ax +y "2 = 3) Sunkdh posihon oF rows
-3y -2 = Ny
- ¥ i
R A S M

% Cannot muldply wess '(QEGA‘\‘?\D.V-




Augmented Matrices

A vending machine accepts nickels, dimes, and quarters. At the end of a week, there is a total of
$536 in the machine. The number of nickels and dimes combines is 360 more than the number of
quarters. The number of quartersE_ﬂO more than twice the number of nickels. How many of
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